

UK 17

$$V_{\text{sol}} = 64 \cdot 10 \cdot 5 = 32000 \cdot 1,025 = 3,280 \text{ tons}$$

$$V_{\text{uozm}} = 6 \cdot 10 \cdot 3,5 = 210 \text{ m}^3$$

$$V_{\text{agra}} = 210 \cdot 0,25 = 52,5 \text{ m}^3$$

$$V_T = 3,200 + 52,5 = 3.252,5 \text{ m}^3$$

$$T_{\text{miero}} = \frac{3.252,5}{64 \cdot 10} = 5,06 \text{ m}$$

$$KB = \frac{5,06}{2} = 2,54$$

$$I = \frac{64 \cdot 10^3}{12} = 5,333 \text{ m}^4$$

$$V = L \cdot B \cdot t = 64 \cdot 10 \cdot 5,06 = 3,252 \text{ m}^3$$

$$BM = \frac{5,3}{3,25} \approx 1,64 \text{ m}$$

$$KM = 2,54 + 1,64 = 4,18 \text{ m}$$

$$Gm = 4,18 - 3 = 1,18 \text{ m}$$